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BOTANY
Study the following lists & (808 rderod e¢gohdo s
List-1 eedase- 1 List-1I eedae- I1
A) C.GK Ramanujam I) Father of Biology
C.G.Koedrdoo BHP
B) White II) Sexual reproduction in plants
3¢5 Sn¥es® Bohy HEg8)8
C) Aristotle I1T) Palynology
©dPBS $oeKBen FZo
D) Camerarius IV) Father of Botany
S°F0BOHD HETY
V) Organ culture
€95050 ég So

Identify the correct match DDS B80S 080w
A B C D A B C D

H 1 v v 1 2y vV I 1 il

3) V. II 1 II 4 1 v 1 I

Identify the incorrect statement among the following
& (Bob S 5850 ogapgso $o8oSod
1) Vernalization in Daucus carota takes place.af’er nrolonged exposure to cold temperature of winter
&R 56%rst Sgpdseeo d8o ©PIBE (HES Boxd ITRAS wBorHH0b
2) Orobanche grows as parasite on the gernis of Maryland mammoth variety
£.5a708 0558 OOl IS Karw) BOAS [Her88 Bohd Zwg)p HSTREIT HBrHH0E.
3) Striga grows on a plant from whici: zeatin was isolated by Miller and Letham
098, D o TEIBen SIS D Iy Do (HErowrs® © g (oo Borh&ob.
4) Inradish root, the addition of cytokinins results in increase in size due to cell elongation
%8S Barto Hg dwgon I8 SwargstBo wbh, I HBBXTRS” BB

In which of the following plants, the vegetative parts are not modified into specialized
structures ?

8 8o B3 O Kt daH grrren (BEE Joyerer SrJrodso JosD ?
1) Pistia QA 2) Eichhornia 8°8)ar
3) Artabotrys @zg;eﬁs@” ) 4) Casuarina SParBaP

Identify the plant having deciduous stipules and gynoecium with free carpels
oD B’J[;éo“g)a*;)e)o 0B a’g)a’moess edodnE dodigren He o088 g0 &) S0
928055

1) Lathyrus ePOER 2) Michelia DPOATe

3) Ipomoea AT 4) Smilax 73&@%
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Study the following lists & (808 erderod eggahdo 30508
List-1 eeder- | List - 11 eedee - 11
A) Special type of inflorescence with bisexual, I) Heliotropium
chlamydeous flowers
BYDoKE, JOBEBNE HAYOE® ErES (HEE SrOB|EED 0 So
BEFS JFYAI°gH0
B) Special type of inflorescence with unisexual, Il) Ficus
sessile flowers
DEDOKE, oS & o“g)a"“)e)é’s ErES [§6€“§§§ PE0
BEFI HFAJ°goo
C) Special type of inflorescence with unisexual, IIT) Sphaeranthus
pedicellate flowers
DEDoKE, H)oSKHrE HANOE® Er8I (D8 Byorogs
BEFS DFYAI°gH0
D) Cymose inflorescence which resembles simple IV) Poinsettia
raceme
(3%’))1’:6?3 © )& ?’.g)a’%)g)méb"&)& OS5 188 300195?\)&2 asre
HFDTegd0 V) Leucas SR
Identify the correct match DDS B80S 080w
A B C D A B C D
n v 1 1Iv I 2y I m I IV
3) oI I o 1w 4 VvV 1 II I

There are two types of small, sessile flowers in an-iuniorescence. Those flowers are arranged
in centripetal manner. Sepals are reduced to haix -:ke structures. Which pair of the following
characters are NOT found in such flowers ?

2.8 HITg006° Both Bseo DY), H)oEKIPS HAyeoInow, & Hares SoE@dIEorr ed
a0, SESSEce §B0D Bare $F (samow. ool HIFWEE BHS DEYS) D =8
oferen EIDoUD) ?

I) Cypsela fruit DINS® 0 IT) Axile placentation ogf eo&zegsSo
I1I) Superior ovary %scgs 3Tl arR: forvhle)

IV) Syngenesious androecium Soor 888 Socsng BSoeH?

DI &I )&l 3 I&II HIOI &IV

Which type of cell division occurs initially in the functional megaspore in angiosperms ?
o)3deros® Bar)E Krodgdasting® (FBogos® O SEFHT Lndefnd abrhd ?
1) Somatic division followed by cytoplasmic division immediately
088 Defesd 5505800 BoedS ésa@szé?g Q&5
2) Reduction division followed by cytoplasmic division
Eo88e DFad S0 éa@@ﬁzé?g Qe
3) Reduction division without cytoplasmic division
éw@ﬁéé Defed B BoHBBes Dgfesd
4) Equational division without cytoplasmic division
ésa@ﬁéé Dfesd BY ¥HoEreHE =S
Dehiscence occurs along both dorsal and ventral sutures in which of the following types of
fruits ?
& (BoB Szo Hered® SDa%o )R HoBAs» &S Seros® S0 wdorhodod ?

I) Legume BIATPEE Heo IT) Septicidal capsule  $é& JoesE L
III) Septifragal capsule  $&58E $H9E IV) Loculicidal capsule Sgzsdords mo@s
DI&IV )1 & 11 &IV 4H 1T & 111
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Which is showing correct descending order based on the number of cohorts ?
855850 Sogg 08 9B IS ©X8°See [EHrR) SrdHo ?
1) Thalamiflorae, Calyciflorae, Disciflorae, Inferae
BerGED, SPORYED, BT, a8
2) Heteromerae, Inferae, Disciflorae, Calycitlorae
8800, 83T, EHT, SO
3) Bicarpellatae, Disciflorae, Heteromerae, Calyciflorae
Bse0)B8, AHT, IrBE W0, SOV
4) Heteromerae, Bicarpellatae, Calyciflorae, Thalamiflorae
28380, BSPTYTH, SCOREED, PeroET
Identify the family which contains flowers with free and united parts among the outer four
successive whorls in different genera
Kg)a’%)oeSS JNDO Hod Jrenit edo|seas Secsreetd grmren ARY @3&3”60&)(’58 edodsnEornv
HBS» SodsnEorr EDASHOE Sénonod ?
1) Malvaceae SBR 2) Fabaceae D
3) Solanaceae oI 4) Liliaceae OOGHD
Oil is obtainted from the seeds of this plant is used in the preparation of medicines
& 30¥) IETro 08 08od IrIH Boe SABPESE GHIBrAIS
1) Gossypium PSS 2) Derris 36R
3) Trigonella @’5'55@; 4) Withania Flaloves
Which of the following are involved in the synthesis of bic-membranes ?
& (8od 3°dS° dEgare Joghm aHosd FESIoBH DD ?
I) Smooth endoplasmic reticulum o5 @Oéé&’) oy P00

IT) Ribosomes Bt Smen

IIT) Peroxysomes Doedystsmen V) Plastids 32

1)1& I only 1 & 1T &l 2)1, 11, T only I TI, T $oe(ess
3) 11 & M only 11 & I S5 41,10, 111, IV LILIIL IV

Arrange the following in ascending oraer based on their number
& (800 A a3 Noggo egrrCorr 68 5eem|E o8t o8 ol
A) Number of bivalents in the meiocyte of Pisum

288 DBrPSS® Fardowme Sogy
B) Number of chromosomes at each pole in anaphase - I of meiocyte in Zeamays

25T Fref DB DESED SossI-18°5 (18 YN0 B &) (E8BrstSne Logyg
C) Number of chromosomes in the meiocyte of Allium cepa at anaphase-1

@9ADH0 dar & WBr PSS’ SoSEE-16° (E3rE Sne Sogg
D) Number of chromosomes in the meiocyte of Happlopappus gracilis at anaphase-11

SEQEPSE (TPROFEE WBr &S S0I8I-1I65 1§ 3rstHne Sogy
)A,C,B,D 2)A.D,C.B 3)A,D,B,C 4)C,B,D.A
Assertion (A) : The sequence of nucleotides on m-RNA is complementary to the sequence

of nucleotides on the DNA template
Q@yB8a°550(A) : m-RNA &* 63) SrE§BrBEo 5B EHo, DNA Srdseosos® &)
Sr8 BrB&Eeo SBIESIPI8 SordSonr &otnod
Reason (R) : m-RNA is synthesized from one strand of DNA, which acts as code copy
S H(R) : DNA 6% 5088 S8eore H T2 a8 9535 50D m-RNA 688 e:5800.
1) Both A and R are correct. R is the correct explanation of A.
A0Bd%w R{IBID, R eoodd A $BS D5des
2) Both Aand R are correct. R is not the correct explanation of A.
A 08050 REBID, R 056 A B3 D8 52t

3) Aistrue, but R is false Ay, =20 R ei%?«z 4) Ais false, but R is true A&Hp,5°0 Ray
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Study the following table & (80D HGEH exgigaoSo 30508
Tissue Structural character Function
Besareo Qoyes o0 FATA)
I) Collenchyma Cell walls with more amount of water | Photosynthesis in young
stems
Kn;o@mémavoo b8 D3 Z9AS ééac;v?gen 88 scomrod® & 6&3:6§
JSo@BrK(8as
II) Parenchyma Dense cytoplasm Storage of food
S)So8esero0 DB Bea(Bg0 es580e 3@53(ﬁoéo
III) Sclerenchyma Suberised cell walls Mechanical support
&) Sese00 Qord& o EeaBdaogen aSo|8E esgr8o
IV) Digestive glands | Abundant proteins in cytoplasm Digestion of proteins
48 (fogen Eea|55506° 058 JnFos® (DS @855 4o Saswes
Identify the correct combinations $BS H¥DoHS KB oSHEw
Hi&ll )M &1 &IV HIl &I

Assertion (A) : Epidermis of dicot root is made up of cutinised cells
D@)BarE50(A) : &5659'5?:3 3% Do) erSgSto ErgeSasned Serod NEYE Goenod

Reason (R) : Exodermis provides protection to the inner parts of root, when epidermis is
lacking
'Sos"éoo“p)(R) : SGst aa%"sl’?sz‘,ié&o 3:60“%)3650, 33"0‘5'88?83/)6156%0 S50 grre® e IodH

1) Both A and R are correct. R is the correct explanation of A.
A 58050 R85, R 9058 A 885 Dd8es
2) Both Aand R are correct. R is not the correct explanaiion of A.
A 080im REBID, R 003 A 8BS Ddten 2o
3) Aistrue, but R is false Aegp, 20 R &Sy 4) Aisfalse, but R istrue
A 859,520 Reay
The correct sequence of tissues in a aicot stem after secondary growth
Ao PG 2ONAS SB3°8 B #82 0K08° ©Hd dNod Smerere KPS B (EHd ?
1) Phellogen, primary cortex, secondary cortex, cork
33@‘;@5, (EPEE Sepeo, 65(5@05) Sepwo, Botk
2) Cork, primary cortex, secondary cortex, phellogen
Botd, [PEE Seyeo, &(55260‘5) Sepeo, 33@‘;@5
3) Primary cortex, secondary cortex, phellogen, cork
(P0G S0, &Sédéa S0, ééj@g, Bo
4) Secondry cortex, cork, phellogen, primary cortex
65(5@05) Sepo, Bok, 33@‘;@5, (EPENE Sepwo

Which of the following is subjected to dryness externally only ?

& (80d St aPSgone So|SDo wergrardd ?fodo'&)?s SnE) 20 ?

1) Aloe e&® 2) Zizyphus BeBHR
3) Tribulus (Base 4) Casuarina SPeB°
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The following facts were observed in an experiment on peas. The grey colour seed is
dominant over white colour seed. ‘G’ is used for grey and ‘g’ for white seeds. Study the
folowing table and identify the correct combinations

D& SuKOP BB JoBdem HABrmre ogoe ardd o o JEdo adrgd oEed,
8eny) Boih Heo VESo @066(5)65 0§ 8D0b. ©onIS® & 8ob Xae;é:aa eacS?gdozéo 3%
0BS Eried $80Hdn (KrSS 1 ‘G’ & arld Soih®, ‘g’ S 8end) BoiHH &HBrehoard)

Phenotypes of parents Genotypes of parents Phenotypic ratio of the progeny
adHeo &)IgBradren ad3%He sydraren D088 &)IgBrd A
I) Grey x White Gg x gg 1:1
@8 X e
II) Grey x Grey Gg x Gg 3:1
el x ae&8
IIT) White x White gg x Gg All white
By X Bend) o) i)
IV) Grey x Grey Gg x GG All grey
&8 X el @Jﬁ)cl Eavlatod
1)Iand IT only [ 50805 1T &5 2)Iand IV only [ 50805 IV S8R0
3)L, ITand IV only [, Il 508050 IV Se(@3d 4) 111 1L IV

An organism in which one bivalent is missing, when compared to a normal diploid organism is
called
28 JogeSes d‘scﬁo?gé’éé 288 ey, a8 garBoes SPACDS LI DY DewBH ?

1) Monosomic eSS 0E 2) Diseinic a3 WE
3) Nullisomic $OFWE 4)Aonidiploid 0% tohRB%o
Study the following lists & (80D wrdarod egiahiio Bahod
List-1 edae- 1 ! List-11  ardee-11
A) Spermatozoids of Pteris Y I) Zoidogamy
B - Sod Hohtderen e Qe
B) Spermatozoids of Cycas I) Malic acid
PES - Sod HHR Deren 708 e
C) Spermatozoids of Funaria IIT) Oogamy
BRPoaie — Sod Hhdderes ©oBodriio
D) Aplano gametes of Spirogyra IV) Sucrose
255600 - Do BoFrrideren D
= V) Physiological anisogamy
BoSrd)s ©dsdh SoTriio
Find out the correct match %88 £f80Hd HBohEw
A B C D A B C D
) 1 vV IV 1 2 m o v v
3 I vV IV 1 4 1 1 v Vv
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Assertion (A) : Life cycle of Funaria is called diplohaplontic life cycle
DB BTEg0(A) 1 HyPoakr EASS(S°R) EaH EYHBE £ S|Bo ®oerd
Reason (R) : In Funaria, there is alternation of haploid gametophyte and diploid
sporophyte and they act as parents to one another
HHR)  : HRoaps® HEJBE Sod@rridests S0 BIEHYBE 1gests SFeo DsrodBorr
&0eron HBAD ETeIEEES adHenrr SIBJom.
1) Both A and R are correct. R is the correct explanation of A.
A 58050 R85, R 9058 A $85 Dd8es
2) Both A and R are correct. R is not the correct explanation of A.
A 080im REBID, R e0iodd A 8BS Ddves 50t
3) Aistrue, but R is false Aedy, 520 R 85y
4) Ais false, but R is true A 859,570 R sy

Spirogyra filament does NOT differ from Rhizopus hypha in
BEH0 Bodh H008& 2)6°R0° Bo&HH & of@os® YKo oK

1) Unbranched nature grEerd $grdo

2) Presence of haploid nuclei DEREE Bosrenothes
3) Presence of chloroplasts $5e08Bens) e0oted

4) Presence of pyrenoids 207°00G @00t

Assertion (A) : Viruses can cause diseases and can undergo replication when they are

inside the host
QG)B*E50(A) : @d3ows® ed)dpi 38en ENASIORY BeniiSom. Sodas» (©83%)8 SocHaEeon
Reason (R) : Viruses can not undergo replication su¢side the host, but they remain alive
w&H(R) : @8Fond D05 GNP 382w l{aiéée)é’é SoE8H). s £DodD Goérrow

1) Both A and R are correct. R is the correct explanatic:i of A.
A %080iw R$BID, R 0058 A& 885 D58

2) Both A and R are correct. R is not the correct ¢xplanation of A.
A 80im REBID, R 05 A 886 @588 50t

3) Aistrue, but R is false Aedy, & R &85y

4) Ais false, but R is true A&, 50 Reasy
Study the following lists & 80d wrdarod w@iahiio Bahod
List-1  eedae-1 List - 11 arfee- 11
A) Aflagellate I) Single spherical bacterium
S 8BrE0 2008 flersed ardBaHo
B) Rod shaped II) Pneumonia causing bacterium
Someseso Sog ISP EOA0D aa*’é B85S0
C) Pairs of Bacterial cells III) Anthrax causing bacterium
adoorr ar§Bdhd Semren solgrE)% EOR0T ar§dahs
D) Comma shaped IV) Cholera causing bacterium
oS ©5)d Sooe 0R0d ardB8cho
V) Pleomorphic bacterium
DIVErSE arBaho
Identify the correct match 308 PG odd B ohdw
A B C D A B C D
) 1 o ma v 2 V. Iv 1I 1
3) 1 11 S | G Y 4 VvV 1 nm v
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What are the plants with highly reduced archegonia ?
oo §8005 88)PAchSHes EOAS JnKe DO ?

1) Primitive archegoniates ©B% @B)*ATSe

2) Highly evolved non-flowering plants 0508 K0S BoHI 93OSV IwB)en
3) Primitive cryptogams 0% (B8Erden

4) Primitive spermatophytes B B peSen

Matric potential always has negative value because

SoBE Ko DD QNPT erEHE0oMT Gotnod. SPEE0

1) Matric factors increase free energy of water molecules
Sr(@8 sedzre $o D wmdHo ':30(5553%_% [lestavhi Vel

2) Water potential becomes less negative due to more hydrophilic colloids
20R0H Seronfen LB GotHe Hg I K0 BE)D e BE0HB0s

3) Matric factors decrease the total number of freely available water molecules
(@8 sedEre Sg ?So(grﬁz)m &0G OB wedHo éospé é?‘%)éé)o&)

4) Matric factors increase chemical potential
(88 sedEren S E53q) Dohsrow

Which of the following show effect on metabolism of plants and there by reduce the rate of
transpiration ?
& (800 TG S° DD SnKe FHBcHP Hyrar) SrH0Y, Soeoe weAf)B)E Il SAJow ?

I) PMA 1) ABA IID) Asprin oS IV) DCMU
1) 1& IV only [& IV &8 2) I & IV oaly 1M1 & IV &8
I &I H L TSIV

What is the mechanism by which the salt resistant piants can get rid off the excessive Na™ions
to outside through their roots ?
obe (HBEE FuK)es® ©hES Na© ooy 3¢ oogoe adhed Ho dsro@so 28 ?

1) H" — ATP ase uniport mechanism H" — ATP Gb& ciooeQRG airo@80
2)Na"—H" symport mechanism Na’ - H" 208#§ airo@go

3) H" — CI” symport mechanism H"— CI™ 208#§ asrol@%o

4)Na" —H" antiport mechanism Na"—H" eo82§ dro@So

4000 molecules of a substrate are taken in a test tube. The corresponding enzyme molecules
having turn over number as 20 are added and kept like that for 10 minutes. 40% of the
substrate molecules are found unchanged as products. Then, find out how many enzyme
molecules participated in the reaction ?

a8 t{aéé S*0ES® 4000 @déémg ENNODN 60D, T°A8 J00HOAI Vo0 BeHOH (&
QoF @55&0“35 Sogg 20) 369, 109y Jexn GodS, 40% @Cﬁé E{amg ©850)e0 t{aéé
58S s Teornr SrEHore sond, P SEE° ) J0FS weoHer P IHow ?

1) 400 2)72 3)24 4)12

Main understanding that came out of Hill reaction
25065 BEE 502050 Sngyg BPSES 0 ?
1) Occurrence of two photosystems Both 5708 Hg5Kenotiero
2) Oxygen is released from water in light phase ~ s°0& 7356565 B %008 wB)aS JHLeHH0H
3) Hydrogen donor in sulphur bacteria is H,S B w%@oﬁp@‘s H,S rEas oo
4) Rate of photosynthesis is maximum in red light
QB Sorh seodS® E8eresigdodrriEcd fefel KOROM™ 600t
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Assertion (A) : Photorespiration becomes an obstruction to CO, fixation in C3 plants
5708 FHIBAP Id C, SnEos® co, ago"azééa s&oorne Irt&od

Reason (R) : Photorespiration protects the C, plants from a lethal effect called photo
oxidation
C, 300 s°08 e—sé‘bééo o3 HrSE 8 Dok 5708 BH B Ak E§K0b
1) Both A and R are correct. R is the correct explanation of A.
A 58050 R85, R 9058 A $85 Dd8es
2) Both A and R are correct. R is not the correct explanation of A.
A 080im REBID, R e0iodd A 8BS Ddves 50t
3) Aistrue, but R is false Ay, =20 R85y 4) Ais false, but Ristrue A &Dp,s°0 Ready

Substrate level phosphorylation does NOT occur in which of the following biochemical reaction ?
& 180D @ éa’)63°0‘5026x56§68 o a’amg 3;0&) @1’3"0)665&’15 288K ?
1) 1,3-bis phospho glyceric acid [ — 3-phosphoglyceric acid
1,3-9% 31’%5‘59)(&&65 espo M - 3- @1’%3‘5“)(&&65 e300
2) Glucose-6-phosphate [11 — Fructose-6-phosphate
?ﬁ;gaé—éi—@vﬁbég M - @{355’25 —6—@{5%)&5
3) Succinly Co-A [0 - Succinic acid
2835 Co-A [ - %88 esxno
4) Phospho enol pyruvic acid [1J — Pyruvic acid
PGS DEPDS eipo [l - PErE wsho

Some of the stages of polypeptide synthesis are givea below. t-RNA participates in which of
them ?

3"8)3)??35 $0380S°) Q) S¥en (808 aHWEID. 78S -RNAT dhoh & otnod ?

I) Transcription o8 pHo

IT) Activation and transfer of amiv acids oS slren 68833 26O SJahake
IIT) Translocation bgmoé Fof>)

IV) Elongation of polypeptide chain 3"8)3)%5 e DBode

DL IL IV LIIL IV 2) L I, I I IL, III

3)IL L IV IL IIL, IV HILIV IL IV

A fungus produces a phytohormone which can cause hyper elongation. What is the asexual
stage of that fungus called ?

2% 3do(dn ©d SE5NBI 2OFF0BOD B K)aé&’)‘%%ﬁi& &8 Tod. & 3dolgo B
©BoAE $IH Ao ?

1) Rhizopus sexualis B0 DO

2) Fusarium moniliformae égfo@di:o 5}3&)@&6;)
3) Gibberella fujikuroi BBz Pre3ss

4) Phytophthora infestans Perghoe alDILR)

Nostoc can fix the dinitrogen in symbiotic association with
FopE & Bod 08° $5edB0 B BLPEBaI Sedosesd

1) Alnus @S II) Gunnera A o°
IIT) Anthoceros 80§ doed IV) Casuarina SeeB°
Hi&ll )M &1 ) I&II HI&IV
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The product, which is immediately produced after the second cross during the synthesis of
Triticum aestivum, contains

(3380 53.25«5) ErPoBoSDES GrSo® BoLSIO KH08B0m0 20AS $Hard Joom alelabs
&B)9)dw Jodk Hed

1) 14 chromosomes, 2 genomes 14 853rs%Snen, 2 £58%wen
2)21 chromosomes, 3 genomes 21 E52estimen, 3 E¥Swen
3) 28 chromosomes, 4 genomes 28 [B52estimen, 4 E¥Swen
4) 42 chromosomes, 6 genomes 42 852estswen, 6 E¥Hwen

Which of the following pairs of substances are used in tissue culture to induce shoot and root
respectively during organogenesis ?

Eeaedee) :5665):6068 oSS E) 8BDIIPE (Hseoro DEYEErIE BB I8 DE)EerI8
BERMe & (Bod Hormre ades® IV (HE@3 TEEE ?

1) Hydrogen peroxide and sodium hypochlorite  3e(EPes& 3078 )& 508650 #&cho 3rdseDes

2) Ethylene and cytokinins 2608 8050 DRI
3) Ethylene and abscisic acid 26OS 285w @)RE who
4) Cytokinins and auxins 2¢5%30:y 080k 88K

Arrange the following stages in correct sequence, which are concerned with insertion of
isolated gene into a suitable vector

DEBIS g IS FeHE0ss @3%&% ?{wégo“messﬁ & (80D BIod $BS SB3(ESos®
SR ejfela
I) Protoplasmic centrifugation in sodium lauryisuiphate solution
FPE A0 0 $B)E5 (THwos® ééémvg Ao Ses
II) Treating the bacterial cell with EDTA
EDTA & arfsch sard) S¢; a8sso
IIT) Cutting the plasmid with restii<ton endonuclease
ORES QoS IrEBoES® PG E§BoSE0
IV) Ligation of plasmid with desired gene
5;3)&5:63, oD% 25D Soddo
) LIL O IV 2)IL LIV, I 3)ILLIOL IV 4101, L I, IV
The seed material used for mushroom production is called
HEFEHO DOHSNE SHBPN0T DEP HEos) Doerdd ?
1) Compost BokQ 2) Spawn )R
3) Hymenium FOAVLR OV 4) Basidiocarp BROEDe°0)
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41.

42,

43.

ZOOLOGY
Assertion (A) : No two subspecies with in a given species can have exactly the same
ecological niche
2.8 2SR D BotH edardien SRV & aSerrES IR EOA SoED.
Reason (R) : The functional role of an organism in an ecosystem is its ecological niche
S8 ééé:gés a8 £ 28D S°65§e9°o‘6€§ ool aferdsd AR
1) .Ais false, but R is true A 85,520 Rasy

2) Both A and R are correct. R is not the correct explanation of A.
A S8cin REBID, R 0o A 8BS DHdes 50t
3)Aistrue, but R is false Aedp, 20 R &5y
4) Both A and R are correct. R is the correct explanation of A
A %080im R$BID, R 9058 A% $BS D58es

Read the following (Bob aegagedd Sy

I) Nerveimpulses generated in a Hydra can travel in any direction through out the body.
elees® SR AT & (S Teen oed BGeo Home O BIS o (SSrBoSHoD)

II) Longitudinal nervecords originated from the brain of a tapeworm are joined by
transverse commissures regularly
2ZHSH HEE $08 GEFN0VS 8chd & Somre (EH wosTred® el o°d
Jogrofsrod Eendond G&oéron.

III) Circum pharyngeal nerve ring is associated with the nervous system of both round worms

and earthworms
SOHSR T8 Foohin @3B MHolESHEITL B TSLwes BodE T8 JgBKEH
L0080
In the above the correct statements are D QS8® 8BS RN
1)Iand Il only [ $0880 1T £33 2) Il and III only 11 So8csw 111 &85
3) I and IIT only [ 5080 [l sv@gs  4)1, Hand III I, 1T &08as0 11T
Choose the incorrect from the following (o8 S $85°0 @A BVRS VISRV

1) Sponges are exclusively aquatic and exclusively sessile as well
Hoden o sesddden HOD Frgme ﬁszéaatg EHen Exce.
2) Spiny skinned invertebrates are exclusively freeliving, not parasitic forms
$Bos® St OAD ©8358 diden o EEdes, Do) dden DD Erwe BH
3) Invertebrates with jointed appendages constitute the largest animal phylum
sdroreod® é%@ Ko 08358 EHen ©d ?’ofg 23080 écg?bcl 336(36{3)263
4) First animals with blood vascular system are the first animals with true muscles
S0 BEH0Se Ko wosden, e otoren Ko 533%33365&3 23080590
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Study the following (Bob A evggaoso ZoSnSw

List — I 35é35-1 List—II 38 —1I List — IIT ¢35 — 11
A) Neomenia Internal shell Aplacophora
DSBS 08888 80 A& oo
B) Neometra Bifurcated arms Crinoidea
DBoolere BYEDSDEFD Goween BoeomBase
C) Neoceratodus Two lungs Dipnoi
ABFEEES Bot GHOBSIe aadho
D) Neopilina Limpet like shell Monoplacophora
DBreLOT° Do DEY Hos BB SrStapstIsso
In the above the correct combination D IS $8@Bod Beowd
1)A, B and C only A, B 5805 C £($3b 2) B and C only B 08050 C (8850
3)B, C and D only B, C 805 D &g 4) B and D only B 558050 D &mosdh

Study the following features
I) Their pseudopodia contain granular and adhesive cytoplasm
8 Mgrgrorod® Beaseaind, 008 $od é:ﬁa’)mgo &0E00d

IT) They exhibit homaxial apolar symmetry e S3F $)S83°8 FHaeQ) (S 0m

III) They are generally planktonic forms 0 JPFeELOMT HHSeen
IV) They are shelled and the shell is calcareous

o 868 SHeo OB GBI s o 96@3(5 RISL S
Which of the above are true about heliozoans
P S° SrOBrEbS55% Sow0hod JuPS D?

1) All are true D S 2)Allexcept 111 1T 855y e9Qdyaso
3) All except IV IV &5y eoyaso 4. All except 1T IT &5y ey

Assertion (A) : Deficiency of pyridoxineeads to hypochromic microcytic anaemia
205°8)S S50 Sy wreReENE Fo(ERE 0dMdSr SenibSod
Reason (R) : Pyridoxineis involvexyin the production of antibodies
206°8)8 ($&ALre 68)88 8°¢)&0b
1) Both A and R are correct. R is the correct explanation of A.
A0B0%w RXIBID, R e0odd A $BS D5des
2) Both Aand R are correct. R is not the correct explanation of A.
A 08050 REBID, R 9056 A 383 D8 52t
3) Aistrue, but R is false Aegp, 20 R &Jy
4) Ais false, but R is true A 85,520 R ey

Arthropods with paired gonopores also contain

adeorr X)) a8l Sogrod EOAWNDHE e—s@gé"m EHen EOABN0EIIB

1) Antenules Fohden 2) Gnathochilarium &"3B80%H0
3) Unpaired labium oo 5°Q e9580 4) Genital operculum 2308 650B w0

> 12 <
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Match the components of List I with List I and choose the correct answer
(0D B 2EI8D SB@oS SHIreeSHIWD 908 05Hw

List—1 3¢ —1 List—IT 3¢5 — 11
A) Wharton’s Jelly p) Aggregates of cell bodies in CNS
85y 89 Solachard S5H56° Endste SHwro
B) Trabeculae q) No perichondrium
(&8 Zogeren 5365»9)6500”2‘% S5 oDBwoe
C) Aponeurosis r) Mucous connective tissue
o3rs6°dS 3K SoBras Lwwreo
D) Nuclei s) Striated voluntary muscle
Joog8 8o D%0o(@8 BHSZoLS0
E) Articular cartilage t) Spongy bone
Sobhse a’))e)CSoeJ"% 0)0BE 5wy
A B C D E A B C D E
) r t S p q 2) r S t p q
3) t r S q p 4) r t p S q

An Euglena is moving forward through water with spiral rotation around the axis of
movement and gyration on its own axis. For bringing this type of locomotion, the movement
of the flagellum would be

a8 darfize ABSE, ol oFo Hbp IOersPEos® SO MK, Bahd eFo Sty
SO WJ0b. & {050 BEHEI8 oo E3°gf0 @ FEIN SE5OE se8w0o

1) Undulation from base to tip &3°g espedo écg oo «lertio S 2300 S0 Sodo

2) Undulation from tip to base ©[ifgris £08 egrdo, D& x8R S8 Sedo

3) Flagellum turns like a screw $@egio 2383 98553 wemrod

4) Zig zag movement Bherh D0, X BLDBen

Plasmotomy occursin  &p0%e550 18EL;0556

1) Plasmodium LRBBa%o 2) Opalina £.58°

3) Aceneta DRI 4) Polystomella PO ver
Read the following statements (Bod aegagotd SosHdw

a) Trophozoite is large, active, motile, feeding and pathogenic.
(5 PBeromel ©BB D $0IPwo DA ST, T5HSEE, BRE £D
b) Precystic form is small, nonmotile, non feeding and non pathogenic.
@%‘g‘@vé‘sé% [0 DY) HOIIew0 EOA ,B0SErES, e BHI HOCH THH DAL &3
¢) Encystment is a means to tideover unfavourable conditions
&8558m0 ©H5d (HdEre 5’36%600:63 ofE DoIerdé a8 Sedo
d) Modes of nuclear divisions during multiplication by the intestine dwelling trophozoites and
metacystic stages are one and the same
so|$0s® 5203 (E5°PPromeie BIEPY) B S0 HBASD e DYE o dfuses®
2200 éo@Sé DefedSen a8 EES»
Which of the above are true about Entamoeba histolytica
2 e’ aoerﬁ)oaav&m‘gges 85 020809 JHBFBS oy en

1) All are correct DI 2) All exceptd are correct  d 83 ey
3) All except ¢ are correct ¢ &55) e9yoso 4) All except b are correct b &) ey

Which one of the following does not open into the ootype of tapeworm
aZ DS RBS S8 JBorr BBoSHESD QoReasind HodosHdn

1) Vagina e 2) Uterine canal o3t Hog
3) Oviduct & Desaodrs 4)Vitelline glandduct ~ $&% (508 %o
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If a chick is to be predated by a snake, eagle & a cat, their Prey - Predator relation can be
descrbed as

a8 8%Q Do a¥ Jrsw, G, DY Soel EHoH aSFEHD IS ISnHBp HeS gy Ko
DBRiee DO S0

1) Gamma link mSrO08 2) Beta link D DoE

3) Iota link eod@rotr Oof 4) Alpha link SIS

In Pheretima excretory external apertures are present scattered all over the body in
208 Sooes® YL arsey So(mren B5S50P dPpodBes® B0 dwotdn.
1) all the segments o) Poderen
2) all segments except clitlelar region 883erd poliaren $) ADS o) podsren
3) all segments except the first two segments of the pre cliltellar region

88epd Sy eri50S® Snsed Boh Polaeen &) HADS o) podaren
4) all segments except the spermathecal segments

BHErEen Ko podzren 3) HNDS o) poliaren

Torch light was focussed on to an earthworm which is coming out of the burrow. It retreats
back into the burrow. This activity of the earthworm is due to the receptors
°005H 08 Jenes $:5)BK) & BTN 08B (HK00D VDS @b 8BA F°00HS I8
NP, TITHD S STGH BEHOL SEPS (PSSt
1) which are in large numbers on the ventro lateral sides
B0 &858 306,35 &Pméj 0¥ K)ogpéég &OEPOoM
2) whose cytoplasm contain network of nerve fibrillae
BeoSTrgod® Korg ool Sodihen EON eotron
3) with sensory hair opBTren EOA ot
4) which cause conical elevations of cuticle Eere 0grRdSt eEet HE)ron

In cockroach a peritrophic membrane is-forn.ed around the food as it passes through the
mesenteron. The function of peritrophic m=mbrane is to

aS"%oé SogrgolEo Hore eStso G8H %, e5880 iﬁoew; BErHE EySo B k. DOErHE
&S0 Bw) I

1) help in digestion of complex proteins 08R @"é%ég égzﬁ»éf’ FSESTOVEASENS)

2) help in absorption of digested food SEF00 KD s’ HEAHEHD

3) prevent reentry of food from mesenteron into the gizzard

o[B8 238850 ol esBES0 Eﬁ)m?go@émé%é (HIBossome Jaedoihdo

4) protect the delicate lining of mesenteron 5508 g0 BeyBIB0T® Jae0Ho

Read the following statements (Bob aegagedd Sty

a) Respiratory organs of larvae and adults are different in case of mosquitoes

&85eed, eroege DO [FrEBHe Fbesdharen HHone otk

b) Mouthparts of larvae and adults are different in case of Bombyx

arodE)S®, Gogfsre Hdd» FrEdHo Segrmen HHorr Gowdd

¢) Both nymphs and females are econonically important in case of lac insect

eézyéeaéo HEPH oscen HBosw 1§ £Hew Bowi aeedesg Do edDBrNo

d) The diploid individuals are all fertile where as haploid individuals are sterile in case of
honey bee colony

838 Ko ¥ 3 Fost BaR 88 BHoYNED HOB0EII st fbéggé’éé EHoNcsn SogsBHen

In the above the correct statements are D S KBBRD
1) all are correct Q)0 HOGEHID 2)all exceptcand d C 085 d $59) evdyasn
3)all exceptaand d adas» d 8% edyoso 4) all exceptd d 88) eoyoiw
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Observe the following (Bod TPAN 530005050
1) Mandibles Seospen 2) Pre stomial teeth  Swoprdy Sosren
3) a pair of unjointed maxillary palps af 28 Pold 08 =ods® Jyonorren

4) Elongated galeae  °&3% NOASwen 5) Pseudotrachea DGR AIDT°FoD
6) Dutton’s membrane £&3 SgSSo

Which of the above are the components of the mouthparts of housefly

) FASE &K S grreH $o0BoISH

1)2,3,4and 5 2,3, 4500805 5 2)1,3,5and 6 1, 3,5 5080» 6
3)3,4and 6 3,4 58050 6 4)2,3and 5 2,3 08050 5

Identify the inverted pyramid from the following
83 1800 QS SoBothenre ¢od HEDED KB oSHEw

1) Pyramid of energy in a pond ecosystem D8y Boeen 25526;({36‘5 8 DBME
2) Pyramid of numbers in a grass land ecosystem & dard8es zééééé‘s Dogrg DBDE
3) Pyramid of energy in one tree ecosystem 2083 Bey SardBee 26526;({365 8 DBME
4) Pyramid of biomass in a pond ecosystem 8Ky BoeBen é?gzégée B50°8 DEME

Which community is established with stabilization of the environment in ecological succession
Bars8e odEHos® Sog8es BESg0 DT ELO TXRo° ﬁg&oéaocio S0

1) Secondary community &@ck dezo 2)Climax community @085 Hreso

3) Pioneer community (@808 $dmez0 4) Seral community o8 Jraso

The hairy and milk producing duckbilled platypus lays z7g: and has a common aperture for
rectal,reproductive and excretory products. It suggests that
firo 59, §80 68)8 FD o So&y PBUT HED VBB SO HOATY,
(DSBog8)8 B IIGE G:&Hvnensd 2B Bolfaw Mose Jended HoHEod. 2d dHD
3e0)B0.
1) This is a connecting link between birds and raammals

ad $HoH HBAD FEmreB Hogl HATED DED

2) This is areptile that give rise to mananais 28 éécsémm SEVARISIAY K:éé@):aéoo
3) This is a degenerate mammal 30 a8 %s%o{i):é oFeren Ko éécé:ﬁw

4) This is a primitive mammal retaining some of the reptilian features
86 ¥BYTe TR oo EOAS Hoess §5esn

Discontinuous distribution is exhibited by QYY) 3B (H5E80wSHID
1) Dipnoi — Ratitae aa - O88 2) Dipnoi —Anura B ~ koo
3) Urodela—Anura Gr&rler - AXegoe  4) Dipnoi — Eutheria atvialesiiliovealalevsy

Read the following statements (Bod aegagotd SosHSw

a) Antisterility vitamin is antioxidant doés 0D WS I8 D08 e8)Zod
b) Antihaemarhagc vitamin is anticoagulant

Qo3 PHVRE DOMS BB (HBK0BE Saego

¢) Deficiency of zinc in the diet causes hypogonadism and dwarfism

e858808° 8o %50 Sy adTrore pd HBD SoBorhepESo H0e3D Seorbdo

d) Obesity can be controlled by reducing the intake of calories from vitamins

DTy Hod $T) stodoH estos® SHod 8D5°B00 Bg &305°0H0% VAH0@0SHS)

In the above the correct statements are D oS BB
1)aand ¢ only a 508050 ¢ SeS3H 2)all exceptd d 85y edyain
3)band d only b %800 d &  4)a,band conly a,b 835 ¢ SR
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Study the following statements (Bob gz eggasoso FoSnHD

a) 97 % of haemoglobin is saturated in systemic veins
B8 2BoS® SrIrAtDS 97% Sod)HHHS00
b) Bohr effect is the effect of CO, on oxygen affinity of haemoglobin
$%6 OBE 030 v)aS S BrREHS edwogop CO, Hards
¢) Vital capacity of lungs is IRV + ERV + TV
&3D08H o IS szﬁ)cg?go odre IRV + ERV + TV
d) Central lobe is the common lobe in both lungs of rabbit
K))CS?Se)oé’.)é 30358 Bok %B&Sé’éé_ge)ésife éa’))&& ©0d¥

In the above the correct statements are 2 S $BFEod argagen
1) all are correct Q0 HOGHID 2)b, cand d only b, ¢ 598050 d Sw&d
3)a, cand d only a, ¢ 506c%w d &R 4)band conly b $8d5w ¢ S

In rabbit beginning from liver and again back to the liver after oxygenation, arrange the

following blood vessels as per the blood circulation.

%0830 5PB8aHSn Hod DA5HeNTO e—sé‘béﬁa’xs é§o°5é§ Ho8e S8 EHB0S5E a’)éox) J8%

(588 05580 K380 SETrerod KBDBoS (Edos® D)ol

1) Coeliac artery &858 gD 2) Hepatic veins 805 dBen
3) hepatic artery sS85 ¢§HoD 4) Post caval vein ESte 23 VS 1o To!
5) Pulmonary circulation DDD (H0Bea

6) Left systemic arch AED 8 aedo

1)246531 2)345162 3)345206l 4)245613

Match the processes listed under column — I with the l:snes given in column —II. Choose the

answer which gives the correct combination

588 —1&° a5@as d0ero $8E —II B Ho JsnSedH 2SS, $OBS Soows

3389y 30egrI50 oo

Column -1 28 —1 Column -11 s — 11

A) Zygomatic process Zi°5oe35 Sodo 1) Scapula ®odHoso
B) Coronoid process 58fon& &980 2) Ulna 088
C) Odontoid process  a.ccoérons 4980 | 3)Jugal fafeTaY:1
D) Olecranon process 2.9E3S 490 4) Dentary GSoae
E) Acromian process E0cHS &980 5) Axis oo

A B C D E A B C D E
1) 4 3 1 5 2 2) 3 4 5 2 1
3) 51 2 4 3 4) 2 5 1 3 4

The functional unit of sketelal muscle fibre is formed of
®d SoXEdodhpeo (BaSrHasradnd BB
1) one complete A and one complete I band

a8 Sorg ADHE £ a8 oy 108
2) one complete I band and two halves of A band

2.8 Hoig 156 Moo ADE Eng) Both efgriine
3) one complete A bond and two halves of I band

8.8 Do ADE M0a | $¢ @ng) Both efyerizmen
4) Half part of I band and half part of A band

I 586" ofarrsn Hocm ASES wlarnsn
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A severe fall in the blood pressure disturbs the function of kidneys leading to
Bros® 555880 wrmr $EFSwo S SrEdorre (BoHES® HBIFHS o 5Hod.

1) Renin becomes Functionless BAS (BairBdrgo sedso

2) Increase in augmentation SROTRS BorHe

3) Decreas in glomerular filteration rate oFyreto Bew B

4) Creatinin level increases in urin S (os® (B3RS o BB

Following are the symptoms associated with the endocrine disorders in human beings
& (Bod8 Ko a°gh ofgren Sr5HOS® ©od(FE @K)?Sé‘genéa J302080AIB

A) Groans, Moans, Bones, stones ('), 3°]), &%), B
B) Polyurea, polyphagia, polydisphia FDABBAP, FOHBAF, FOEY)A0
C) Moonface, Buffalohump, pendular abdomen 0l$8 Sogo, 5, Sood g
Identify A, B, C basing on the above A, B, C oo 8 0505»
1) A) Hypoparathyroidism 2) A) Hyper parathyroidism
TSP FTETPo0E 30 58 Srorgorandeo
B) Diabetes insipidus B) Diabetes insipidus
EXrBER aDED EXBER a)DED
C) Addison’s disease C) Cushing’s syndrome
AEIR) T8 B0l g6
3) A) Hyperparathyrodisim 4) A) Hyperparathyrodisim
3°H8 Foegorandeo N8 Frorguroniessd
B) Diabetes mellitus B) Diabetes mellitus
EASPBED D1OLS GBS YLD
C) Addison’s disease () Cushing’s syndrome
SIS 58 %oh 560

Assertion (A) : Placenta in rabbit is haemocrdothelial type
HoBen woeKNH) eI RoEHO%S 55
Reason (R) : Inrabbitthe placeriais formed due to attachment of foetal allanto chorionic
villi with maternai ciidometrium
%08ené® 2oPaS), DoKo HTPANS) B oo Hod 56“)&26 LoPseen
&9 Koydoh Hegds ©$:8%5%0 S D8)KS08.
1) Both A and R are correct. R is the correct explanation of A.
A 58050 R85, R 9058 A 885 Dd8es
2) Both A and R are correct. R is not the correct explanation of A.
A 8cin REBID, R 05 A $BI Ddves 50t
3) Aistrue, butR is false Ay, =20 R&Jp 4)Aisfalse, butRistrue A &5p,sd Ready

Which one of the following is the correct expression of plasma compatability in the ABO
system of blood groups.
&(80d 3°6° ABO 8% (e Bng) i) oSiHEs $op080d S8 grasd Mo

O Sy Dy
’ \o/ ’ \AB/ ’ \o/ ' \AB/

Identify the set of purely motor cranial nerves of rabbit
HoBend® o orol JErdsn Ko Edro o $HBoSHBD
1)L V, VII, X )ILIV, V,VILXIIT 3)ILILIV, VL, X 4H 1L 1V, VI, X1, XII
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73.

74.

75.

76.

77.

78.

indiavidya.com

Which of the following character in Drosophila is expressed in heterozygous condition in
females and hemizygous condition in males

(GRS ers® HSHREHes® o8 dSnifes fgé’éeﬁszéa, & 2Hes® DLiToasnifes ?\@3865263 D5G S
o0 Hodotdn

1) Wild bristles 53568 88men 2) Red eye color B 8Ly

3) Bobbed bristles COREAICRISY &8Smen 4) White eye color By 88

SCID is due to mutation in the gene that encodes
Bod o BV Sé%o:?; 23053 G6&HBIES IS SCID Senitod

1) Adenosine deaminase J&SFHS EeoIE 2) Dehydrogenase EorEtesE

3) Dystrophin &%E*2S 4)Lipo protein lipase ~ 8% (€838 SaE
Study the following (Bob A evggaoso ZoSnSw

a) Kuffer cells EH6 Eegeen b) Osteoblasts 38 Boeege g en
¢) Histiocytes SPYBrRE D d) Mast cells S Segeen

¢) Monocytes S5 en

Which of the above are macrophages D Qs° K»Qve)e;f g8 Zeeen

1)a, b, conly 2)b,c,dand e 3)a,c,dand e 4)a,c, only

Assertion (A) : Natural selection is the outcome of differences in survival and reproduction
among individuals that show variation in one or more traits
@ée)a 5880 095036 .88 Sor @od 08 ‘Déazrs’) &:60?3 eé&wé‘ Q&)CS?SO o 1o)
BHo BwE) BorrgE OB (HS5EHB 2o SgEegre HOSHD
Reason (R) : Darwin's natural selection explains i< origin of the fittest
GBI BwE) (HE)BIGeSD Boeigiiry HENSH JHBB308
1) Both A and R are correct. R is the correct explanaticti of A.
A 805w R8I, R s A 3BS Dddcs
2) Both Aand R are correct. R is not the correct ¢xplanation of A.
A 08050 REBID, R 0odd A 8B 088 s°th
3) Aistrue, but R is false Aep, 50 R &5y 4) Aisfalse, but R is true
A 859,520 Reasy
Observe the pedigree given in the diagram and choose the correct answer
5608 Srdadd DA (HoaHED0) DSBa 100D, $B@BoD SIrerSsn BN Bodw

4O

mooe O

1) Parents are homozygous recessive EYB0(EDFEB DXoThnife: woBES0o
2) Parents are homozygous dominant EYB0oEHDELD DLKoTSwifes @8rPB0
3) Parents are heterozygous BOB0(EHOLBO D3k Adoressioo

4) The trait is holandric Serol@E ofeso

Identify the set of poultry diseases which cause respiratory disorders among poultry birds
§‘S§g} 5’36@’:5068 §‘SQ;) @ségs-a’ KYo204 ea&’)ega’)“ge):éo LenS oS0 ARSI 10805050

1) New castle disease, Fowlcholera, Aflatoxicosis 26?59585 56, §G§Q Booe, g eavé(\)%s?’oﬁ

2) Gomboro, Aspergillosis, CRD K058 5, Qéo)geﬁ?oi, E°Q5 B00 =56
3) Marek’s disease, Infectious coryza, Monilliasis £788) &756, aQER0 &78er, I0dYASTRD

4) Ranikhet, Brooder’s pneumonia, Roup disease ©°08¢5, (270656 $o2g30°008, &6 7356
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Match the following (808 5°J 28 HBBodD

List-I 5638 I List-1I s8Il

A)ECG 1) Tracing the blocks in blood vessels

BETee 0BHIP) Ko HoSerds

B) ELISA 2) Detect tumour of brain

0B ES® EBBoK $80SErE

C) MRI 3) Pregnancy test o3y dozbod H8

D) DSA 4) Abnormalities of heart functions

$08 HATD D50t evJogrores 536%60026) %2808

A B C D A B C D
) 4 3 1 2 2) 3 4 1 2
3 3 4 2 1 4H 4 3 2 1

Population A has 1000 individuals, 200 individuals are isolated and enter a new geographical
region where they are previovsly not present and got adapted as population B. After few
generations it was observed that the off spring descended from population B resemble their
parents but not the population A. This indicates the concept of

A 5 a330ge® 1000 £Ho Ko ool 08 200 EHen DSES Jod, J6°8 FRYPE (HBJos'I8
(33800 B asrgrme 3008330, 5 Sore Soxd a9 SodHheodH HoSm, ISES
2003 B ascg™ Hood .'Dc‘f“)c?, S J0Ed o8 2dKied IO 69 s°Q,
A axgrs® 0K Sth. ad IV $oedK00

1) Hardy—-weinberg equilibrium &8 - OS «§ $z8 2) Cenetic drift ZISE &F

3) Gene flow a3 (BP0 4) Generic load a3 gr80

-~

PHYSICS

81.

82.

83.

Cv
Units of _p8 are of (where C = c¢apacitance, V = Potential p =Specific resistance and
0
€)= permittivity of free space)

C—3rd8, V= FBY0HS, p=DBY 8%, gy = ")T)0S0°¢n BwE) 508398 eowd
CcVv

g BoE) (BHSeesren.

1) Charge BRE50 2) Current Doy

3) Time SEISTN 4) Frequency PeedBg500

Two constant forces F; =2i—3j + 3k (N) and F, =i+ j—2Kk (N) act on a body and displace it
from the position r; =i+ 2j -2k (m) to the position r, = 7i + 10j + Sk (m) what is the work done

B0 JB weren Fy =2i-3j+ 3k (N) 0o F, =i+j-2k (N) &8 5593 20 O 3% oD
r;=i+2j-2k (m)$o& r,=7i+10j+ 5k (m) £ (3;:6@;{0%0 325 28BAS HD

1)9J 2)411] 3)-31J 4)161]

Ratio of minimum Kinetic energies of two projectiles of same mass is 4 : 1. The ratio of
maximum heights attained by them is also 4 : 1 the ratio of their ranges would be

2.8 ($550°8 o Boh ($EHse EJY K8m FHe B 4:1, 308 Bw¥) K0F IKhe Y
4:1 o0l a°8 e A
1)16:1 2)4:1 3)8:1 4)2:1
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A force of SN acts on a body of mass Skg at rest for 1sec and gives momentum p and kinetic
energy E. If the same force accelerates the same body through 1m. The momentum and
Energy attained are P; and E respectively . Which of the following relation is correct

5N podn dHeYBS® dw) Skg SuH Hre Isec SITD o8 p (BB E 828
oSO, ©F Do ©d SRHH 1 SrESD SPBESID Sa0e S0 T (BES5BHS P,
8238 E, 0onld. S(Bod adS® Db 8BSk

1)P>P,,E>E, 2)P<P,E<E! 3)P>Pl E<E! 4)P <Pl E>E!

A 2kg shot is fired from a cannon of mass 198 kg with a velocity 50ms™! w.r.t the gun. Then
the velocity of recoil of the gun is

198 kg (5550°8 He a8 S0l 2 80 M0 S8 Bore S0ms™ 3508 S, S8

BwE) 358K 50895 K0 ..o

1)0.5ms™! 2)0.1ms! 3)0.25 ms™! 4)1 ms!

Force acting on a particle moving in straight line varies with velocity of the particle as F = V&
Where k is constant. The work done by this force in time “t” is

et K)Jvtgoés Eoendol) Swop HABB0 OB IKS50E’ (Bod SrdS $AeESL0 (HEPEED

k
SeB0&50 F = v (k %5@’3). “t” spe08® oSN IDS HD

k
Dt 2) 2 kt 3) kt 4) —

A particle moves on a rough horizontal ground w)ih some initial velocity V.If E%E of its

Kinetic energy is lost due to friction in fime't,. Then coefficient of friction between the
particles and the ground is

2.8 Smo 89 3o V& (5% §8a Hirods oo Eendid)d. t)scoos® $oG g S0l

3
oo K@aa%gés 2 Do :6{)’53501)6&. Begrdd, Serd8 K»q% o éoé‘q 088350

Vo Vo 3V, 3Vy
) 29t 2) 491, 3) 49t, 4) gty

AB
Awire of length '/' and mass ‘m’ is bent in the form of a rectangle ABCD with BC - =2.The

moment of inertia of this wire frame about the side BC is

AB
I'&rEH, ‘m ($S550°8 Ko &K% —< BC

ghadn HSorre & Swo Do) EEg (@eoESD

=2 oiHdén ABCD 5&5» SBE|se80s® Soaeds. BC

2) 8 iz 3) WL 4) AL

D 252 252 203 136 162
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Abody of radius 'R' and mass 'm' is rolling horizontally without slipping with speed V. It then

2

3V
rolls up a hill to a maximum height h= E . The body might be a

'm' ($3g0°3 'R’ a5°§:3°(32>’m Ko 32 V 308’ §8a SSrodBorr erdHone [ANeSTIENTAR

2
3V
SBoares o8 566:3 Q8 h= 4—9 G°08 & 508
1) solid sphere PORFE S 2) hollow sphere CAROTAR- A0
3)disc &y 4)ring Bord

The magnitude of potential energy per unit mass of the objects at the surface of earth is
'E'.Then the escape velocity of the object is

g A8 BN BwE) (Hdores (B50°38 %é’éaa«a’_én 5B 'E'. 5959 BwE) Herahd Jefsw

D) JZE 2)4E2 3) VE A

Maximum velocity in SHM is V . The average velocity during motion from one extreme
point to the other extreme point will be

8.5°.8. &° Koy SIw V. 28 D50 Hod BosS HEH Ehenws® S By
Boes0 Jifasw

o 2 4
D) 5V 2) =V 3) — Vo OEAT

The strain stress curves of three wires of differert niaterials are shown in the figure P,Q, R
are the elestic limits of the wires. The figure shcw-that

3% 3% a’amga’mo3 SohadS S &xw Tn) BB, (B80S0 (PO 1F) Heos®
Sr50859. P,Q, Ro3d &Ko B ?})afs D8 958 oD HEo SIS

(A

1) Elasticity of wire P is maximum

P &K @) 28 JH8s K855 A P

s R€ % S

2) Elasticity of wire Q is maximum

Q &5 %) 1B FHES KoKW Strain .
3) Elasticity of wire R is minimum 8

R 8% @) 28 F8s 8250 0 Stress
4) Elasticity of wire P is minimum B8weo

P &5 Gno¥) 2BFBEE 8IH0

@ [N €

Y

A wooden stick 2m long is floating on the surface of water. The surface tension of water is
0.07 N/m by putting soap solution on one side of the stick the surface tension is reduced to
0.06N/m. The net force on the stick will be

2 oo FED Ko 38 818 D3 oo Jri SendBB. e Bod358 0.07 N/m. (8% a8 3

ST HBJ Hohe S o838 0.06N/m £ SA38. (B s $VB2%) $98 @oB0
1)0.07N 2)0.06 N 3)0.01 N 4)0.02 N

A wooden cube floating in water supports a mass m = (.2 kg on its top. When the mass is
removed the cube rises by 2cm the side of the cube is

DS e Bendod) a8 Fo5dn ool S0P m=0.2 kg 8. (v ($550°8 FBoSSH)d. (($X50°8

0NN o350 2 0. DB SIIB. FHoBSw BwE) Fhasdn D

1)6cm 2)12cm 3)8cm 4)10 cm
>21 <
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Two uniform rods A and B of same diameter having length 2m and 3m and having mass per
unit length 4kg m~! and 6 kg m~! respectively are joined end to end. The position of centre of
mass of combined rod from the free end of A is

Bok D588 Sdeoo ABA0 Bag argiods £0A 2m 08050 3m P EHer SoAdnD. (Hire
PH8 2R (SBgodoen $&Be dkgm! 58050 6 kgm! & S0 wBTeD DSE HOBE

71
TR (3BS® L0DH A BooE) g7y DG H00& B KoBrK ($B550°8 BolBo Sr8o 1) P

26 41 36
z)ﬁm 3)£m 4)Zm

If the length of a cylender on heating increase by 2% the area of its base will increase by
BprQ) I8 Sosne Hod TR FEH 2% DOASH. SEEESD B JTeENS® DKHE
1)0.5% 2)2% 3)1% 4)4 %

If pressure and temperature of an ideal gas is doubled and volume is halved the number of
molecules of the gas

e—sCSég JPA5DY B0E) 585, é@é@fé:& Be?aoé) 3%, Fo550KeaeR) Bl égoi’)é D°O050

€LY ‘f()oa)?g
1) remain constant EvotelaM 2) become half D50)E06

3)become twotimes  Bob Bep Drd&od 4)become fourtimes  TPenrd By BDE0H

A 10 KW drilling machine is used to drill a bore iri 2 small aluminium block of mass 8kg. How
much is the rise of temperature of the block in 2.5 minutes assuming 50% of the power is
used up in heating the machine itself and rem:araing is lost to the surroundings (Specific heat
of aluminium is 0.9 J gm~1 K1)

888 (B550°8 Ko eeresdddaid (o&\éé)'s Bolgod T8 10 KW o QS 0B850,
[ St’éo%oés 50% 05H0(E0 IEKEIE HOWD DADIS B$B3Te oS IS 35 Dond
2.5950ared® By sPWSS® DS ......... (9orgdcHSH D8PFo 0.9 J gm! K1)
1)920C 2) 104°C 3) 77°C 4)122°C

The temperature of hot and cold end of a 20cm long rod in thermal steady state are at 1000 C
and 20 C respectively. Temperature at the centre of the rod is

20 20.3» FEH Ho & &y SHeYdS® HX)Npc oo I8, I D58 5§ EPiSen
S50 1000 C, H8a50 200 C. wons 8§ ¢y Dotk $¢ PSS
1)500C 2)600C 3)400C 4)300C

Two black metallic spheres of radius 4m at 2000K and 1m at 4000K will have ratio of rate
energy radiation as

4m g0 #0A 2000K ¢, $o0csn 1m argedo #KOA 4000K. 3¢ Ko €5 &5 Fegro I8
D8Be Bewo G

D1:1 2)4:1 3)1:4 4)2:1
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If a light ray incident on one of the faces of the prism of refractive index 1.414 with grazing
incidence and after refraction the emergent ray just grazes the second surface of the prism,
then the angle of deviation is

1.414 5SS thwo o 580 708 E8min 30658 IEYFSS Soo Soald HESH,
Bod JdgSS oo Ioad DG EF0TBog. oNS DFOD &%s0
1)00 2)900 3) 309 4) 450

A thin glass lens of refractive index 1.5 has optical power of — 5D in air. Its optical power in a
liquid medium with refracive index 1.6 will be

1.5 S 853 Hrsin Ko Heodd ma SoEID B8 G FHYEe MOS — 5D woni
1.6 SEFSS hnssn Ko (BSRrE50E® B )5 w5

8 5
1)25D 2)-25D 3) D 4) gD

Which of the following can not be polarised  3(80d &t G Bod SBonren
1) Radio waves BED> SBorren 2) Ultraviolet rays 08 &rd 88

3) Infrared rays Soedoes 8eaeen 4) Ultrasonic waves 8GR SBorren

A short bar magnet is kept along the magnetic meridian with its north pole pointing north.
A neutral point is located at a distance ‘d’ from the centre. The ratio of net magnetic

inductions at a distance % and 2d from the centre of tve magnet on the equitorial line is

2.8 $0GeaIMoae)) aHIPod WIrsEs O LHS® ool &E8 ¢PTSw &E8 BF ID
GO0 Howedo. esdoﬁl’&oééao BoE) M8 ééo‘cg Dot ‘d’ SrSost DJB. HGfg
©0oD _(Sap_;’.g @Jdﬁo:ﬂf’&oé oG5 Doy ol SE,Zd Br80et Ko DotHrHe o“acg $OS e—90‘60:3°&0e‘§

(8mo IS

1)1:4 2)4:41 3)8:1 4)1:8

In the following circuit SQ resistor develops 45J/s due to current flowing through it. The
power developed across 12Q resistor is

(Bod Sedshos® DS [Hardeo Hos 5Q D880’ o 3o 45J/s o 120 Q&8¢ ot

230050 e,‘go iz 90 60
16w

12Q
2) 192 W o>
3)36 W "
4) 64 W s

Correct increasing order of susceptibility of magnetic material is

@(ﬁo(ﬁ“&oé E{amg@ (f)’oaégy K)é’éé PNBIS QSSKP&;Léa’)oo

1) Dia, Ferro, Para ESse, DE°, oo 2) Dia, Para, Ferro S, aroe, (6t
3) Ferro, Para, Dia 285, oe, Eode 4) Para, Dia, Ferro Foe, Eode, (6t
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An electron travelling from infinity with velocity “V” into an electric field due to two station-
ary electrons separated by a distance 2m. If it comes to rest when it reaches the midpoint of
the line joining the stationary electrons the inital velocity “V” of the electron is

2 oo BrSost D) Voo &)0%’))?3868 DY) Voo Sl NEYES 8)650?35 é@oésmé, 28
‘DoLs;:So ©5080 o0& V SKo&t IBNIH 0. & ae)Ls;:S), 8)U°:§o%€9e38 DY ae)Ls;:S)ozéo 0D
B Sesy Dot JIHped ooz JBE HNIB. BoS Jo(gTH DY) &9 KT “V”
Dend

1) 16 ms™! 2)32ms! 3)16 /2 ms™! 4)32 /2 ms™!

Two identical capacitors are connected in series. charge on each capacitor is q. A dielectric
slab is now introduced between the plates of one of the capacitors so as to fill the gap the
battery remaining connected. The charge in each capacitor will now be

Bos Hog Brdwbod (FBS° Jogro 1. wEY) 3RO PN wIISw q) 8
3rROE Sofeo B¢ g8 ®oa® B Jod DFore S seHomedd HEdasn argtad Sogrso
oo HHB. BFPE 2.5 BrdOHED Ko eITs

29, Yo
D 1 2) 1 3) ﬂ 4) Y%
I+ I+ 1+k 1+k

V —1 graphs for parallel and series combination of twe identical resistors are as shown in
figure. Which graph represents parallel combination

BP0, Lé%ﬁ JYogrde Bod 60052)650"’0 V 1009 $506° SrHadS0. HYSt D)

D088 Hogrard) 88)(%03@0&. A .

HA 2)B v A
3) A and B both A, Ben Boxe -
4) Neither A nor B A, B e Both soth |

A thermocouple of two thermal junctions and a low resistance galvanometer all in series. The
galvanometer has a resistance of '8Q2' and the rest of the circuit has a resistance of '1.6 QQ'.
The thermo couple develops an emf of '10puV' per degree celsius difference of temperature
between the junctions. When one junction is kept at 0°C and the other in a molten metal, the
galvanometer reads 8mv. The temperature of the molten metal is (Assume that the emf var-

ies lineraly with the temperature difference)

%gcﬁwﬁg’aﬁnés&) Bo & $ocren 8o ééo&a’) 68 S0 Ko men‘smﬁ)oveaéo Qs Lééeﬁs
o). mm‘smg)ovéaéa Q6% S0 '8Q' H06050 H0%0SEY Mar 88 S '1.6 Q' Botdh Hodkre
B’)DCS?S 1 ?08)“)0‘605 %qg@{@" Foed8 59)&@ B0 J.ae.d '10uV' a8 3069 00C K)C(SD HBDB0E
206 EOADY) SPSSwe® GodIH % a’ae)% 3o J.a°.@ 8mv EDASDY) SEGoSw (f)’aoézT
SRS (.. 0 e e Fe508® Bahorr Sredris)

1) 9500C 2) 960°C 3) 9400C 4)970°C
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The ratio of magnetic field at the centre of a current carrying circular coil to its magnetic
moment is x. If the current, radius both are doubled the new ratio will become

DS B0BHHY) Hyarse8 8K HE BolBo HG VB)E ©ahIod &8, Tl edhIod
[EroseR8 Ko P x. B Mowe [HH0T DB, oo IR BGoH VA ©
Bodod gy o IS

X X
1)2x 2) 4x 3 4) 5

A squre loop of side 'a' lying in a perpendicular magnetic field to its plane is changed to a
circle. If change occurs in 't' seconds in magnetic field B telsa, the induced emf is

'a' gHadn Ko SB[ H085G0 oo eadIos EB505% eomore Hod el JBo BB
$0DTB. wdHIod FESw B telsa, 't' sec 0&° 538y $0a/D0DS (20 J.ar.o

| 4 Ba Ba? ; Ba2D4_1D Ny
[ )¢ BB ) Zero

A closed organ pipe and an open organ pipe of same length produce 2 beats when they are set
into vibrations simultaneously in their fundamental mode. The length of open organ pipe is
halved and of closed organ pipe is doubled the number of beats produced will be

28 PEDH DF) SN STH P, BEABNY) ST PHOD QBIO (e s das®
L0005 B3 2 A omeITeen .'96“)6'3:68). 3893 @03:63 3. FEDD Jredd éfgoﬂ), 0D
s PD B o) 3235 fD(So)é Aomere Sogy

1)8 2)7 3)4 4)2

speed of sound wave is V. If a reflector moycs towards a stationary emitting waves of fre-
quency “f” with speed “U”. The frequenc;’ or'reflected wave will be

BN SBordD BwI) 35S0 V. “P ?7“26?2}):6§5’)1)§8 éq&ééo:@éﬁo:é& Qoddmr &J) 2380 JD
JoedeESID “U”. Sf50s® EeSoenYD. Ho°HIS SBorSn BoE) é)":é:{g):éegém

V-u
V+u

V+u
V-u

V- V-
1) o f 2) 3) v f 4

Assertion (A) : The short wave length limit of X - rays emitted by an X - ray tube in inversely

proportinal to the accelerating voltage

X - 888 a*¥os® DHrSeBed X - 88emre 8 SGoif g D6 ését%éaé
5%:285 DS S LIS 0t Hoenobd.

Reason (R) : The characterstic X - ray spectum depends upon the nature of the target
odogesn X - 88 éa’aeaa’m ¢J°§é§ BnE) Begedsn el BGeEHES00
1) Both A and R are true, and R is correct explanation of A
A $080%» R ew o‘dam"gaéaa, H835m R 90058 A % 580510 DS8en
2) Both A and R are true, and R is not the correct explanation of A
A $080%» Rew o‘éawgzéw, 520 R 9088 A & 380550 Q58eas0d
3)Ais true but R is false A 95358 oSm‘og?a% 9, R AHTYED S

4) Ais false but R is true A 088 chTrgsn s, 9 R CHTB B
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Let K, be the maximum kinetic energy of photoelectrons emitted by light of wavelength A
and K, is the corresponding maximum Kinetic energy to wavelength A, if A, = 2, then

A 880K BEgw Ko 5°08 Hod JETI 5708 Holgmhe K0y A8=dE K, Hdds»
K, 5038 A, 8808805508 So2000dS #0y A& ¥8. A =21, wond
1) 2K, =K, 2) K, =2K, 3)K, <K,/2 4) K, > 2K,

Number of nuclei of a radioactive substance at time t = 0 are 1000 and 900 at time t =
2sec. Then number of nuclei at time t =4 sec will be

3&(5J°Q°6&§ a’amgoé‘sm BolSsee Sogg t=035¢ 1000 o8aSo t=2sec 3¢ 900. t = 4sec 53¢
_éo@SST’eJ ﬁospé

1) 800 2) 810 3) 790 4) 700

When an L-R combination is connected in series with 12V - S0Hz supply, a current of 0.5A

T
flows through the combination. The current differs in phase from applied voltage by 3 rad.

Then resistance is

L-R $00550 12V - 50Hz onsS% (IBS° 802556 0.5A DBRS (DHITP0HIB. ©HBYosaES

SP5% SO0 DSyE5% Hogsy ST FesHw grad o5& EED ... ?

1)24Q 2)12Q 3)6Q H3Q

In common - emitter configuration transistor amplificr tiie load resistance of the out put cir-
cuit is 1000 times the resistance of the input circuitif o = (0.98 then voltage gain is

63l ey DD (RS ééoeSs DY HS0wo%o BoE) AP Y Sodhdn BwE)
26°G°A8 1000 Bey. o =0.98 wond P .58

1)49 2) 980 3) 4900 4) 49000
Band width of an optical fiber is )3 B0BH BoE) agos Iken)
1) more than 100 GHz 100 GHz &%) 985 2) Few KHz &) KHz

3) Less than ImHz ImHz 8% 859 4) Less than 1GHz 1GHz 852 885

CHEMISTRY

121.

122.

London dispersion forces observed in

& 1800 2 Sargo S0 ©0iS JEHH derodd 266%8)06659)26).

1) Hydrochloric acid rEtsteseso 2)Benzene BoRS

3) Sodium chloride in water d&3¢® ¥#&asho &BE 4) Ammonia + water ©3PI5E + D

A molecule has two lone pairs and two bond pairs on it's central atom. According to VSEPR
theory the shape of the molecule is

a8 eddos SoliE JEIe0P P VOO 2,008, Do woGzoben o) wond VSEPR
fbm;oéo (Bse80 o =5)8

1) Angular gdoho 2) Pyramidal DEES

3) T —shape T- o%8 4) Tetrahedral spdasho
> 26 <
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° HNO3+ H2$O4 - C C|2/FeC|3

125.

126.
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If the shortest wave length in Lyman series of hydrogen spectrum is x. Then the longest wave
length in paschen series of He" is.

TE°aS $gHe0 S0tk S FBS® edge) $80KGEso xwond. He" 5080 o84S (IBS°D
@é?gaé ééoﬁ@éﬂgo.

Ox 36X 36X 5x
D5 25 N7 Y

Conc Conc

- A atia0s | o

-
Y

< 60°C
In this B and D respectively are P o880 S0t B 500050 D en oS
Cl Cl
Cl/ Cl/
1) and @\ 2) @\ and
NO, NO,

NO, NO,

cl NO,
Cl Ci
NO SO-H
3) @( 2 and @ 4) @/ 3 "and
NO
O,N 2 Cl

Ksp values of AgBr, AgCl, Agl ar<5'x 10713 M2 2 x 10719 M2, 8 x 10~17 M2 respectively.
Then the order of solubilities arc

AgBr, AgCl, Agl ®Bn8) Ksp denden S0 , 5x 10713 M2, 2 x 10710 M2, 8 x 10717 M2
o 06 (5B cher (EHokn

1) AgCl>AgBr>Agl 2)Agl>AgBr>AgCl
3)AgCl>Agl> AgBr 4)Agl>AgCIl>AgBr
Two particles 'A' and 'B' are in motion. If the wavelength associated with particle 'A' is

5 x 10~8m. Then the wave length associated with the particle 'B' having momentum half that
of A.

Sodos® &) Aodaso B Eeros® Ewo B L§$26§3Ko &0 A@Sa’)§3?§oe58 S50 HBAsw Swo A
E8orggso S x 103m ®ons Swo B E8orggso.

H5x108m 2)107m 3)107m 4)6x1034m
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Roasting is generally carried out in the case of

ggSo (Roasting) Jegrdmon dGrsHesd BBo.

1) Oxide ores 86 Treésden 2) Sulphide ores K@D& PreOden
3) Silicate ores 2085 reHen 4) Carbonate ores SBHRES GraHen

When 50g of a sample of sulphur was burnt in air, 4% of sample left over. Calculate the
volume of air required at STP contains 21% of oxygen by volume for this combustion

50g 6035260 mOS® HokoSme 4% STg 2858 DADID. ©ond & SIS SEEE sPIOJJ,
21% o8z EOAS ed $o3H0sewo STP ég D0es?

1) 160 lit 1609 2)3201it 3209
3) 80 lit 808 4) 420 lit 4209
Which of the following two are isostructural (808 a°&® J¢38 SHoAoyEren G0k
1) XeF,.1;~ 2) NH,,BF, 3) CO4%7,S04%~ 4) PCIg,ICI,
Match the following &8 (808 &I 2&$B GOS0

Set -1 Set — 11
A) 10 vol 1) Perhydro! DEES
B) 20 vol 2) 5.358& N
C) 30 vol ) L.785 M
D) 100 vol +)3.03% (W/v)
The correct match is 3 30O 238
1)A-4,B-3,C-2,D-1 2)A-1,B-2,C-3,D-4
3) A-1,B-3,C-2,D-4 4)A-1,B-2,C-3,D-1
Identify the correct statements DOF@oS agagen MoBosod

I) Clay minerals are used for Absorbing chemicals
EJrcharo SRoSerd8 o8By Gréden FoEsesd
II) SiCl, mixed with NH; is used in warfare for the production of smoke screen

SiCl, $:8d5» NH3 e Do(ESrl) csompe Soth & 88enrr &85
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o
I
- —S—0—si— .
III) In organo silicones | | linkages are present
R R
n

R R

| |

S—O0—Si—

e—sS(fS 298%5 ©oH [ | DOGTED GOLIPOD

R

n

IV) When washing soda is heated with SiO, at high temperature produces Na,SiO;.
aQoh Aeed Si0, &8 why aP S 3¢ 3& 3235 Na,SiO; 28y

1) OnlyI I S0/ 2) [T and II only 1T $o80%0 I Soigadh
3)IL, I and IV only I1, 111 0805 1V &3 4) All are correct Q) HOFTID
Dihedral bond angle in O,F, O,F, S0 @3rES o S'wo

1)108°.18 2)111930! 3)900. 12! 4)870. 36!

The gas responsible for global warming is Freerl) EOA0D Teasnhen
1)NO, 2) O4 3) CFC 4)All

In a ten liter vessel at 273°C 4g of He is present. If4g H, is introduced in to the same vessel
under the same conditions the partial pressuve ¢f i{e would be

2730C 5 10 doog IS 4reswe He o oF 58380 5¢ 4rswe H)srandd oF
PSS B50d35pE He Bod) PR (6ES0 Jod &ok.

1)2.24 atm 2.24 ety 2)4.48 atm 4.48 oty
3)3.36 atm 3.36 wéry 4)1.12 atm 1.12 ety

In a first order reaction A —> B if K is rate constant and initial concentration of reactant A
is 0.5 M then half life is

A —> B [Hgas (Edorod 56565 Béx %moéo K S08a5» A(Baoégy &°0 neeses 0.5 M evond
@565 @ng‘jd?g S°®0

: log 2 ) log2 ; In2 A 0.693
) ) KJO5 ) K ) 05K

Which of the following set of metals are posessing Face centered cubic arrengment
& 180D a8 H HHwesie Sren HOEBoBE ForSTIEH EOAGOLTO.

1) Be,Mg 2) Na.,K 3) Pd.Pt 4)P,,T1
When BF; reacts with LiH the gaseous product formed is,

BF; % LiH &b 385 SPobodS DB TP 630&'2?’:60

1) HF 2)F, 3) B,H¢ 4 H,
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138. Which of the following gives black precipitate in mustard oil reaction
Bod adS® 9B P8 wond HHES® S BIFII JBYH0d
1) C,HsNH, 2) (C,H5),NH 3) CH;CONH, 4) (C,Hs)5N

139. 4—hydroxy — 4 — methyl pentan — 2 — one is formed when X reacts with Y is presence of Z
X% Y& Zsogos® $85 2008, 4 - oled) - 4 - DFS 2o6S - 2 - &5 D)

X Y Z
1) CH;CHO CH;CHO NaOH
2) (CH;),CO (CH;),CO Ba(OH),
3) (CH5;),CO CH;CHO NaOH
4) CH,;CHO CH,;CHO HCI
140. Which of the following is/are incorrect S80d IS 5850 OGP0

i) Beryllium halides are covalent and hygroscopic
289050 SeS&en $SoBeadosH 530&&’5&5"00 0BA™ es[g;édqé Jgaredo fod
ii) The solubulity of halides of alkaline earth metals increases down the group
SP85)8E S50 HIBE (oSBoHE (DS’ D 50D [B0EH DBDHD
iii) Ultramarines are coloured compounds, they are alumino silicates and contain water
es[ngBoQSe» Bo Ko 630&%‘6"03, 0 &80 £00GS) @wg&)oﬁs&‘e’)_ééfw
iv) NaNO, can oxidise urea to nitrogen ga: ia acidic medium
NaNO, cSoedasrid S(EtaSm ey tvsos® ef)gsno Sosns
1)iii only iii Soolga 2)iiand iii only i1 £o8c%o 1ii S|
3)iii and iv only iii 5080k ivm@a>  4)iandivonly 1 508050 iV Sl
141. Assertion (A) : NCI; hydrolyses easily
NCI; zo d3ke B0
Reason (R) : Electronegativity of Nitrogen and Chlorine are same
SE°BS awe JFgrE)EE §°835%H SHrSo
1) Both A and R are true, and R is correct explanation of A
A 3508050 R e ahmrgin, 5000 R @kt A & 900 ot
2) Both A and R are true, and R is not the correct explanation of A
A 58050 R en ahmrgin, 520 R 06 A & 5005 D558esseth
3) Ais true but R is false A 9556 oﬁamgfo 5, R DTG0 S

4)Ais false but R is true A 95056 oﬁamgzﬁw 52, =0 R oﬁamgm
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142. Compounds obtained when bleaching powder is decomposed inpresence of cobalt chloride

Dok K65 gfarg §°38 $0gos® DBrifo JoBoDS DY) SIFIeen

1) Ca(ClO5),. CaCl,  2) CaCl,. O, 3) CaCO,, Cl, 4) Ca(CIOy),, CaCO,
143. Glucose does not react with ApS*E S8od IS® TS S8y wBHH
1) CH NHNH, 2) NH,OH 3) HCN 4) NaHSO,

144. Which of the following statements are correct & (808 a°Q&° $BS aegEge0
I) Cationic polymerisation initiators are A/CL;, SnCl,
Soer S FPOHOESes @80z seenAlCL;, SnCl,
IT) Anionic polymerisation initiators are R — Li,KNH,
od5rIE FOHdEEn (@8ogfscen R —Li,KNH,
III) Percentage of sulphur in abonite is 60% — 65%
ISZES® 60% — 65% 8% b Godd.
IV) 1,4 — Linkages of natural rubber was determined by ozonolysis experment.
Sradab S0k 1,4 —pomro L8808 [BBwio DoeBoSadis.
1) All are correct @) JBBD 2) [ & ILanly [ & 11 S5
3) ILII & IV only ILIIT & TV ool 4) LU &1V only LI & IV (5
145. The complex Fe(CO), follows EAN rule, thei tiie value of x is
Fe(CO), 08530 EAN Jasoiedy FEoh, ®ond X Jend
1)2 2)3 3)4 4)5

146. The freezing point of water is depressed by 0.037°C in a 0.01M NaC/ solution. The freezing
point of 0.02M solution of sucrose in °C is

0.01M NaCl ([o°5e08° He3 $0Daf5S (3;26 AT 0.037°C. @ond 0.02M JEE (BeHeo
DBoE), $50Dgr5S (5;260 Q5 S 0C os®

1)-0.0370 2)—-0.0185 3)—0.0740 4)—0.185
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Preparation of cyclohexane by wislicenus method is represented as follows
DRI 5B oo PE IS S50 80d DFore SrDoTedd

A _ distillation . B Na/EtOH . ¢ _HI .p _Zn+HCI , C¢H|, whatare A, B, C &
D respectively

'5(0‘365:60

Na/EtOH , ¢ _HI ,p _Zn+HCl , CH,,

eond A, B, C & D en 38035
1) Calcium heptanedioate, cyclonexanol, cyclohexanone, lodocyclohexane
Y0 TPPSFETE, RETESS, ETEFT & 0@reE® TGS
2) Calcium heptanedioate, cyclohexanone, Cyclohexanol, lodocyclohexane
9000 RS § LG, RETESS, RETEGHTS & oFre® REFES
3) Calciumhexanedioate, Cyclohexanone, Cyclohexanol, lodicyclohexane
SHUD0 BN § LErS, PETETST, REDESE & 0@rs® 2GS
4) Calciumhexanedioate, Cyclohexanol, Cyclohexanone, lodocyclohexane
SO oho BN B LGS, PETETS, EBEHIS & wirs® 855
The equation for Langmuir adsorption isothesm

eroh S B SIeYP e Bar $Hos8wmo

Dlog = =1 K+11 p 21—E
)Ogm—og ; log )m—a
31_ aP 41_ KP
)m_1+bP )m_1+bP

The enthalpy of formation of N,O and NO are 82 and 90 KJ/mol. The enthalpy of reaction
2N20(g) + Oz(g) - 4N0(g) is

N,0 58a50 NO © @) $oghs’apen 82 5850 90 8 & / IS, oowd 2N,0y) + 0y,
- 4N0(g) Do) 655?3?{%0

1) 8KJ 2) 16 KJ 3) 88 KJ 4) 196 KJ

Equimolar concentration of H, and I, are heated to equilibrium in a 2 lit flask, at equilibrium
the rate constants of forward and backward reactions are equal. What is the % of initial
concentration of H, reacted at equilibrium

25 PR % Brerd EE do H, 5H00» I, 0 I& I36. ST d 5 885w,
FOTON 1IN Sovg %O‘OS‘%)D B¥Seb0. ®ond é:ﬁo@%‘é 3¢ S8 odS H, Bog) (@80 mE8
IS0 Do

1)33% 2) 66 % 3)50 % 4) 40 %
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Choose the correct statements &|80d DSt J30@Bod 5B
i) Ozone is diamagnetic molecule 5,858 ESrsri)3E eesd
ii) Ozone decolourises organic colouring matter by reduction

8858 o Ko 8BS :630&‘5(3"@:6) Eo5E8mo aogoe Ao S
iii) Hypo reacts with Cl,(moist) giving NaCl, S, HC/, SO,
°8 B BOAS Clzé8 385 &rod NaCl, S, HCI, SO, o 185y
iv) S reacts with F, to give SF
Send F, & 385 &0 SF e 218
1)ionly 1 Soo( 30 2)iand iv only 1 50805 iV Sl
3)i,1iand iv only i,1i So8csw ivEmE$ss  4)All are correct &) DOTD ogg5en
Consider the following representations
& (8oB Sraren J¢38 oo

CH3 CH3
H ‘ Br E H
F Br
They are
1) Enantiomers DR FTeenden 2) Diastireomers c‘édﬁﬁ%@&o&ﬁw
3)Cis—Tranisomers 3% - (&]) P00
4) Identical Botr &8 wrl8 auge Koo
The products in the following reaction
B3(Bod EI*A0S z‘56§e38 (B aSeesegen
HI 373
(CH3)3C—O—CH3 +con———> products
e (ESraIrgen
CHg\Cé CH, CH3\C70H
1) | + CH,l 2) CHy™ | + CH,l
CHsy CHs,
3) (CH;);C-1+ CH;0H 4) (CH4);C-O-1+CH,
NH

3

HNO
00 cHcocl o ANRs
Phenol 7cy 3000c AU B H

H
0 s s0 € U Dﬁ D. The compound D is
254

NH HNO
o3 CHsCO¢ pooE
386 znci,so0c AU BT BEp 55

NH,
NHz NH, NHE cI—
oL oY el o
N, NO, OH

>33 <
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155. Match the following  &3(8od °AJ 2858y08
List-1 List-I1
1) MnO/300°C A)  Preparation of acetaldehyde from
ethanoyl chloride
25 oS §BE 208 IerTrE Saird
2) H,/Pd-BaSO, B) Hydration of Alkynes
8850 PEAS
3) %:Ja ;82%+ C) Catalyst used in the preparation of
acetone from acetic acid
JDE3E o Ho& DS SasrdS
é@o)éé o
4) 1% HgSO,/ H,S0,60°C D) Hydroxylation of Alkene
sd)Seo (Er8)THS
E) Hydration of Alkenes
sd)So wodIle
The correct match is QO 28 HBHREIH \
D1-C,2-E,3-A,4-D 2)14C,2-A,3-E4-B
3)1-A,2-C,3-B.4-E HL—-B,2-E, 3-C,4-A
156. 0.04 g of organic compound containing sulphvi produces 0.233 g of BaSO, percentage of
sulphur in the compound is
éeno)5 EOASDY) 0.04 (rdSoen 2% X0y éo_i)&@’één 0.233 (oesSoe BaSO S as5yo.
e—s‘f\’>3oé§:60e38 )6 BwE) 8o ¥
1)20 2) 50 3)14 4) 80
157. The compound whose 0.1M solution has pH <7 are
0.1M i8S 583 (80d o (Gedewo pH <7 soc
a) Potassium oxalate  Srér®iohHo «%)8¢5  b) Ammonium chloride e3»ddfo §3&
¢) Ammonium sulphate ©3»Jd%H0 $8)&5 d) Sodium acetate A& o JVEE
1)ab 2)a,d 3)a,b,d 4)b,c
158. Onelitre of IM CuSO, solution is electrolysed. After passage of 2F of charge the molarity of

CuSO, will (Neglect the change in volume of solution)

2.8 H&8 1M CuSO, (@5 2F e838°Q) e::5@rhod DEgs DIk 3D Sard o (@esemo
(f)’oaégy Swerded (lordeeo oS 5050t $°80) HBOSEAIH s°¢%0)

M M
H1M )~ 3 4) zero
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NH,

©

X+H,0 0} Y

NaN02+H Cl
0-50C

X+Yg@h . Z

In the above sequence of reactions Z is

OH

1)@
3) Ho-@-N= N—@

Identify the correct statements

P $DEserest Z 5

N,C/

2) @
HHN~O)-n-N~(0)

DBF@oS argged HBosod

I) Chloramphenical is broadsectrum Antibiotic

IT) Omeprazole is antacid

I1I) Aspartame is an example of polypeptide

IV) Sulpha diazine is anti biotic
1)Iand Il only
3) I &IV only

[ 50805 1T Sro(B3
1T 508050 IV S

2) L DAl only
a1, [Tand IV only

>35<

550975 (@rEYE do 00583 E
LSS S50 JoerdE

AINEMN ©HIB 5"83)'5;35& GoPSe8
Sery £oHdS a8 Jo8 adre§

I, 1, I11 &3

I, 11 58050 IV Se$
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71. 1
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101.
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12. 2

22. 4

13. 3
23..2
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43. 4

63. 1
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64. 4
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BOTANY - KEY
5. 1 6.1 7.4
15. 3 16. 4 7.3
25.3 26. 4 27. 3
35. 2 36. 2 37.2
ZO0OLOGY -KEY
45. 3 46. 2 47. 1
55, 2 56. 4 S 4
63. 4 66. 2 67. 3
75. 4 76.\3 Tl
PHYSUW.S-KEY
B8 Y 80. 3 87.1
05. 1 96. 4 7. 2
105, 2 106, 2 107. 2
115.2 116. 3 117.2
CHEMISTRY-KEY
125. 1 126. 2 127. 2
135. 3 136. 3 137. 3
145. 4 146. 1 147. 2
155.2  156. 4 157. 4

18.

28.

38.

48.

Ys. 21
108.

118,

1285,
138.

148.

[

49, :

29

69. 4

79. 4

89. 3
g9, 2
109,

119.

129.
139,

149.

159. 2

[

10. 4
20. 3
30. 4
40. 2
50. 2

60. 2

130. 1

140.

b

150. 1

160. 4



